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520 p=_9 -(i+eJ,F:6,9kN,FM:7,5kN,FAy:—23,1kN,

- Z(a + b)
F,,=-225kN, F, =318kN, F, =15kN.

522 F=Q-tan*(a+2p), F=2458N.

, F.=3873N.

523 M=6,188 N-m, Fp,=-3,75 N, Fs,=-37,5N, Fp,=-9,375N, Fp,=-28,125N.

524 Q=3195N, F, =-50N, F, =-25N, F, =-50N, F, =1264N.
525 F=28N, p, =p, =1225MPa, p, =468MPa, F, =6kN, F, =6kN,

F,, =18kN.
526 Q=4314KkN, F,=353kN, Fp=523kN.

527 F=3947N, Sap =499,3 N, Sgc =176,5 N, FA =790 N, Fc =173,2 N, usa= 0,204.

528 Q=20 (sina—u, cosa), Q=12,26kN.
529 0y=18,95KkN.
530 Q;=43kN.
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532 Q,=1272kN.

5.33 x=289,13 mm.

534 M=192N-m.

535 F=Q-u+(0,+0;) -y, F=T00N.
536 a=37,8"

537 u,=0298.



